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.     The Effect of Groups    .
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Data can have underlying groups
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.     Iron levels and weight    .
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.     Dr. Edgar Anderson's iris    .
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He collected data on 150 iris specimens in the 1930s. The results were published by a British statistician R. A. Fisher in 1936

Conclusion? 




.     Athletes % body fat and Weight    .
All Athletes:






Conclusion?

What if the groupings cause the data to spread along the correlation line?
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Conclusion?


What if the groupings cause the data to spread out?














Summary for Sex = male 





X.Bfat = 0.14904 * Wt + -3.0486


Correlation = 0.58061





Summary for Sex = female 





X.Bfat = 0.36212 * Wt + -6.5368


Correlation = 0.72488





X.Bfat = -7.1957e-05 * Wt + 13.51


Correlation = -0.00016189





Conclusion?


What if the groupings cause the data to spread along the correlation line?














All Athletes


Ferr (Iron Levels)


 verses Weight





Conclusions?















































All Athletes


Ferr = 0.93356 * Wt + 6.85


Correlation = 0.27369








Summary for Male 


Ferr = 0.35005 * Wt + 67.515


Correlation = 0.082464














Summary for Female 


Ferr = 0.060376 * Wt + 52.894


Correlation = 0.021289








